Advanced Algebra ll Name K Ly
Spring Seméster Review: Part #1 )

Find the quotient and the remainder for each of the given expressions:
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Use the remainder theorem and synthetic substitution to evaluate each of the following: ( /0 PC '3 S

3) Given f(x)=2x"—3x*+x’=2x*~8x+3, Find{ f(2)= 23 . ‘
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Derive a polynomial function, in standard form, for the given zeros below and call it 2(x) .
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Solve each of the following equations by factoring. Find ali real and imaginary solutions. If needed, use
the calculator to identify possible factors of the polynomial and then synthetic division to verify the
factars.
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Use binomial expansion and Pascal’s Triangle to expand the folloWing expression:
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Which term determines the end behavior of a curve and why?
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Determine the end behavior of each of the following functions:

Asx >0, y—» T
Asx =48, y~> +

12) f(x)=2x*~15x" ~2x+4x-5

Asx—>-8, y— to

Asx > 48, y—» =~ ==

13) p(x) =~2x° +3x* +7x* —4x-90

Asx—>-6, y—>» + 9
Asx—>+8, y> + R

14) h(x)=2x"-3x* +6x+10

Graph the following function. Label all of the turning points and the zerc’s to the nearest tenth of a
unit. ’

Describe the end behavior of the curve,
Asx = -8, y—» +

As X =248, y—» B

15) f(x)=x"~6x" —x* +30x
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Maximum # of turning points possible? 3
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What does Descartes’ Rule say about the number of positive real roots and negative real roots for the
polynamizl function below?
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The table below right gives the average life expectancy, in vears, in the United States from 1900 until the
year 2000. Let time "¢" =0 in 1900 and complete sach of the following;

17} Find a linear model for the data. Round each term to 3 places past the decimal.
A=, 260+E +5/.33

18) What is the R? value of the linear model? Round to 4 places past the decimal,
*
7= 768"

19) Find a cubic model and round to 3 places past the decimal.
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20) Whatisthe R? value of the cubic model? Round to 4 places. Life Span
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21} Which model fits the data better and briefly explain why? _ 1940 63.6
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22) Which model is the be rpredlctor over time and why?
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23) Use your model to predict the Life Expectancy of a person in the year 2050,
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Use your calculator and synthetic division to factor the following function layer by layer and then
identify all of the zeros.
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- Determine a cubic funciion that is obtained from the parentfunction f(x)=x" after the following
sequence of transformations:
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v Vertical siretch by a factor of 4.

o Areflection over the “y” axis.

o Ahorizontal shift of 3 units to the left.
e A vertical shift of 2 units down.
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e Vertical con'wpres-sion by a factor of %-

i

e Avreflection over the “x" axis.
« Ahorizontal shift of 2 units to the right.
s Avertical shift of 4 units up.
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Solve each of the following equations. Check for extraneous solutions.
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